&=OWENS/ 03—-CUR. DODGE RAM DUALLY BOARD 224

05/12/03

DRILLING INTO BOOY AND FRAME IS REDUIRED,

RIGHT 20 5/16°%x 3/4° BOLT

18 5/16-18 HDX WASHER HEAD NUT

4  FLAT BRACKET, FL74

4  FLAT BRACKET, FL73 D&P

2 HORIZONTAL BRACKET, 11 1/2%, J24F
2 HORIZONTAL BRACKET, 17 1/4°, 31240
10 §14 X 3/4 TEX SCREW

* 1/2° WRENCH * 5/16° NUT DRVER * 3/8° NUT DRMER |

25 18 7 o o
(DRIVERS SIDE SHOWN) \

@

BRACKET ASSEMBLY
ASSEMBLE WITH 5/16" BOLTS

MOUNT THE ANGLE STRAP TO THE
REAR BRACKET ONLY

MOUNT AT LOCATION SHOWN AT @:

@ FRONT BRACKET MOUNTING

i PREDRILL A 5/16" HOLE NEAR THE END OF THE

FRONT CROSSBRACE, SUDE NUT CUP INTO END OF
CROSS BRACE AT BRACKET LOCATION

BRACKET ASSEMBLY MOUNT TO BED, ASSEMBLE WITH
5/18" BOLTS, NUT CUP AND §14 SELF DRILLING SCREW

REAR BRACKET MOUNTING

MOUNT UKE THE FRONT BRACKET, BUT USE 2 f14
SCREWS TO MOUNT TO THE BED AND MOUNT THE ANGLE
STRAP TO THE SPRING MOUNT WITH 2 §14 SCREWS

\l USE FOR FRONT BRACKET
-

REAR BRACKET SHOWN

ALL LOOSE BOLTS
IN224




